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Exam Date 30/11/2021
Exam Time : 9:00 AM - 10:30 AM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

following figures. How would this paper look when unfolded?

T

Ans

x 1.

Question ID : 65497831776
Status : Answered
Chosen Option : 4

Q.2 In a certain code language, DANGER is written as EDSHHW. How will SPEEDY be
written in that language?

Ans X 1.TSIFGD

X 2. TSJEGE
X 3. TSIEGE
o 4. TSIFGD

Question ID : 65497831772
Status : Answered
Chosen Option : 2
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Q.3 Select the option that is related to the third number in the same way as the second
number is related to the first number.

129 :216::165: ?
o 1.252
5 2.306

X 3.269
X 4.348

Ans

Chosen Option : 1

Question ID : 65497831785
Status : Answered

Q.4 Select the option that is related to the third term in the same way as the second term is
related to the first term.

BUMP : NOSD :: PICK : ?

X 1.GIAR
X 2.QJBX
X 3.LGDL
o 4. IEGR

Ans

Question ID : 65497831777
Status : Answered
Chosen Option : 4

727187211744
X 1%+ =
o 2.5 %, =
X 3%+ =
KA+ - =

Ans

Q.5 Select the correct combination of mathematical signs that can sequentially replace the
(?) signs and make the given equation correct.

Question ID : 65497831786
Status : Answered
Chosen Option : 2

" 1. Jewellery
5 2. Goldsmith

Ans

25 3. Women
< 4. Neck

Q.6 ‘Sword’ is related to ‘Weapon’ in the same way as ‘Necklace’ is related to *

Question ID : 65497831790
Status : Answered
Chosen Option : 1
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Q.7 select the option in which the given figure is embedded (rotation is NOT allowed).

7N

Ans /
x|
X 2.
W 3.

Question ID : 65497831788
Status : Answered
Chosen Option : 1

Q.8 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

DQH, HUL, MZQ, SFW, ?
Ans o 1. ZMD

X 2.ZNE
X 3.zLC
X 4.YMC

Question ID : 65497831789
Status : Answered
Chosen Option : 1

Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

13, 15,12,17,10, 21, 8, ?
Ans X 1.24
X222
% 3.23
o 4.25

Question ID : 65497831782
Status : Answered
Chosen Option : 1
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Ans

25 1. Cousin
#5 2. Brother
/< 3. Paternal uncle

«" 4. Maternal uncle

Q.10 P,Q, R, S, T and U are six members in a family. P is the husband of Q. U is the brother
of Q. R is the son of the only brother of Q. S is the sister of T. P is the father of S. How
is U related to T?

Question ID : 65497831779
Status : Answered
Chosen Option : 4

Ans

< 1.333
X 2.336

o 3.339
X 4.342

Q.11 The cost of an apple is four less than twice the cost of a banana, and that of a papaya
is half the cost of an apple. If the total cost of the fruits is ¥150, then what is the cost of

a banana?

Question ID : 65497831775

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Ans

«" 1. Opposite B
< 2. Opposite D
< 3. Immediate left of B
< 4. Opposite C

Q.12 Four persons A, B, C and D are playing carrom. A is to the immediate left of C. D is to
the immediate right of B. Which statement shows the correct position of A?

Question ID : 65497831791
Status : Answered
Chosen Option : 1

Ans

‘singers’. The numbers given in the different segments represent persons belonging to that category.

Q/
Which category is represented by the number '5'?

+ 1. Indian singers who are not soldiers
X 2. Indian soldiers who are not singers

X 3. Indians who are neither singers nor soldiers

X 4. Indian singers who are soldiers

Q.13 Inthe following diagram, the 'circle’ stands for ‘soldiers', the 'square' stands for ‘Indians’, and the 'triangle’ stands for

Question ID : 65497831792
Status : Answered
Chosen Option : 1
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Q.14 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Terminus
2. Therefore
3. Terrace
4. Thesis
5. Thiamine

Ans X 1.1,2,3,4,5
& 2.1,3245
X 3.1,2,4,3,5
X 4.1,524,3

Question ID : 65497831780
Status : Answered
Chosen Option : 2

Q.15 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans 4 1. HFDZX
< 2. CAYWU
< 3. TRPNL
< 4. OMKIG

Question ID : 65497831768
Status : Answered
Chosen Option : 4

Q.16 Six people, K, L, M, N, O and P, are sitting on the ground in a hexagonal shape but not
necessarily in the same order. K is not sitting next to L or M. N is not sitting next to M
or O. L is the neighbour of M. P is in the middle of M and N. What is the correct order
of seating positions of the people in clockwise direction?

Ans o 1. L-M-P-N-K-O
X 2. L-N-O-K-M-P
X 3.L-0-K-P-M-N
X 4.L-M-N-P-K-O

Question ID : 65497831784

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 In a certain code language, ‘VENDOR'’ is written as ‘TMFLGT’. How will ‘CUSTOM’ be
written in that language?

Ans X 1.BSTSPA
< 2.DTVQPN
o 3. OMVQWA
X 4. 0oTvamMw

Question ID : 65497831778
Status : Not Answered
Chosen Option : --
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Q.18 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All guavas are pears.
Some kiwis are pears.

Conclusions:
|. Some kiwis are guavas.
Il. Some pears are kiwis.

Ans X 1. Both conclusions | and Il follow
" 2. Only conclusion Il follows
< 3. Neither conclusion | nor Il follows

25 4. Only conclusion | follows

Question ID : 65497831773
Status : Answered
Chosen Option : 2

Q.19 Select the figure from among the given options that can replace the question mark (?) in the following series.

Ans

Question ID : 65497831783
Status : Answered
Chosen Option : 3
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Q.20 Select the correct mirror image of the given combination when the mirror is placed at the right side.

fhdB31
“xrec8bdl

~rE8PY1
~L€dbdl
re€dbdtl

Question ID : 65497831771
Status : Answered
Chosen Option : 4

Q.21 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

1330 34
27?14
19 30 22

Ans X 1.30
o 2.34
2 3.32
X 4.36

Question ID : 65497831774
Status : Not Answered
Chosen Option : --

Q.22 Select the number from among the given options that can replace the question mark
(?) in the following series.

14,16, 22, 34, 54, 84, ?
Ans o 1.126
< 2.148
5 3.121
X 4.112

Question ID : 65497831770
Status : Answered
Chosen Option : 1

Q.23 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

L_PO_LO_OK_OP_KL_POK
Ans 1.0, K P L O 0
X 2.0,P,0,KO,L
X 3.0,PKO,LO
X 4.0,0,P,KL,O

Question ID : 65497831781
Status : Answered
Chosen Option : 1
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Q.24 In a certain code language, 'SOBER' is coded as '64' and 'NOSTALGIA' is coded as
'107". How will 'REPAIR' be coded in that language?

Ans X 1.83
X 2.67
& 3.73
X 4.80

Question ID : 65497831769
Status : Not Answered
Chosen Option : --

Q.25 Choose the box that is not similar to the box formed from the given sheet of paper when it is folded.

2 3|4|5

Ans
.0
2 3
x 2 4
5
o 3. 3
~ 4 7

Question ID : 65497831787
Status : Answered
Chosen Option : 1

Section : Part B General Knalwedge andiGeneral Awareness

Q.1 The Mughals were proud of their Timurid ancestry. How did they celebrate this?
Ans X 1. By holding events like horse racing and shooting

#< 2. By declaring a particular day as a holiday in the country
" 3. By each ruler getting a picture made of Timur and himself

< 4. By dedicating the day to soldiers

Question ID : 65497831808
Status : Not Answered
Chosen Option : --
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Q.2 Which of the following chemicals is known as vinegar?
Ans X 1. Oxalic acid

< 2. Formic acid
«" 3. Acetic acid
< 4. Tartaric acid

Question ID : 65497831812
Status : Answered
Chosen Option : 3

Q.3 With which of the following dance forms is Laxmi Narayana Sastri associated?
Ans X 1. Odissi

/< 2. Kathak
" 3. Kuchipudi
25 4. Mohiniyattam

Question ID : 65497831810
Status': Not Answered
Chosen Option : --

Q.4 When did the rules under the Fiscal Responsibility and Budget Management Act come
into force?

Ans 1. July 2004
X 2. August 2004
X 3. August 2003
X 4. July 2003

Question ID : 65497831802
Status : Not Answered
Chosen Option : --

Q.5 Emma Raducanu is a professional tennis player from
Ans X 1.TheUS

5 2. Canada
25 3. Croatia
& 4. The UK

Question ID : 65497831817
Status : Not Answered
Chosen Option : --

Q.6 Who among the following was a Portuguese viceroy in India?
Ans X 1.Robert Clive

< 2. Comte de Lally
«# 3. Francisco de Almeida

< 4. Francois Dupleix

Question ID : 65497831801
Status : Not Answered
Chosen Option : --
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Q.7 The Constitution (One Hundred and Twenty-Sixth Amendment) Bill, 2019 aims to retain
the inclusive character as envisioned by the founding fathers of the Constitution of
India by continuing the reservation of seats for the scheduled castes and the
scheduled tribes up to

Ans X 1.25 January 2035
25 2. 25 January 2025
< 3. 25 January 2040
" 4. 25 January 2030

Question ID : 65497831814
Status : Not Answered
Chosen Option : --

Q.8 Laterite soil is poor in oxides of which among the following?
Ans X 1. Aluminium

25 2. Titanium

25 3. Iron
¥ 4. Silicon

Question ID : 65497831797
Status : Not Answered
Chosen Option : --

Q.9 Who wrote ‘Gita Rahasya’, which is a commentary on the Bhagavad-Gita, in the
Mandalay jail of Myanmar?

Ans  # 1. Bal Gangadhar Tilak
/< 2. Subhas Chandra Bose
< 3. Aurobindo Ghosh
< 4. Lala Lajpat Rai

Question ID : 65497831813
Status : Not Answered
Chosen Option : --

Q.10 Who chaired 'Aarogya Manthan' 2.0 to celebrate the 2nd anniversary of Ayushman
Bharat-Pradhan Mantri Jan Aarogya Yojana?

Ans X 1.Dr Ashwini Kumar Choubey
7< 2. Amit Shah
«# 3. Dr Harsh Vardhan
< 4. Dr Indu Bhushan

Question ID : 65497831809
Status : Answered
Chosen Option : 2

Q.11 Which of the following is a multicellular organism?
Ans X 1. Paramoecium

< 2. Amoeba
" 3. Sponge
< 4. Chlamydomonas

Question ID : 65497831811
Status : Not Answered
Chosen Option : --
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Q.12 Neil Nongkynrih is a concert pianist and founder of from India.
Ans X 1. East Parade Malayalam Choir

< 2. Indian Fusion Chamber Choir
## 3. Shillong Chamber Choir
< 4. The Mozart Choir of India

Question ID : 65497831793
Status : Not Answered
Chosen Option : --

Q.13 What do you call a region with a large number of deep gullies or ravines?
Ans  # 1. Badland topography

25 2. Arid topography
< 3. Humus region

5 4. Peninsular region

Question ID : 65497831794
Status': Not Answered
Chosen Option : --

Q.14 has launched its new brand campaign titled ‘Contactless Connections’, in
October 2020.

Ans X 1. Contactless PNB Card
#< 2. Contactless ICICI Card
" 3. Contactless SBI Card
X 4. Contactless Canara Card

Question ID : 65497831806
Status : Not Answered
Chosen Option : --

Q.15 In which year was the Badminton Association of India formed?
Ans X 1.1967

X 2.1956
o 3.1934
X 4.1978

Question ID : 65497831798
Status : Not Answered
Chosen Option : --

Q.16 According to the Union Budget 2020, when will India host G20 presidency?
Ans  # 1.2022

X 2.2023
X 3.2020
X 4.2021

Question ID : 65497831800
Status : Not Answered
Chosen Option : --
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Q.17 How many drugs were removed from the National List of Essential Medicines (NLEM)
in September 2021?

Ans 4 1.16
X 2.19
< 3.39
X 4.36

Question ID : 65497831815
Status : Not Answered
Chosen Option : --

Q.18 Which of the following countries has the world’s largest ice rink called 'Rideau Canal'?
Ans 1. Canada

< 2. Switzerland

< 3.Russia

< 4. The US

Question ID : 65497831796
Status : Not Answered
Chosen Option : --

Q.19 According to which amended Act, can sons, daughters and their mothers get an equal
share of family property?

Ans X 1.Hindu Amendment Act 1950

< 2. Hindu Act 1956

«” 3. Hindu Succession Amendment Act 2005
< 4. Hindu Succession Act 1950

Question ID : 65497831805
Status : Not Answered
Chosen Option : --

Q.20 Who among the following is the author of the book ‘Letters to Mother'?
Ans  # 1. Narendra Modi

< 2. Jawaharlal Nehru
5 3. Manmohan Singh
/< 4. PV Narsimha Rao

Question ID : 65497831795
Status : Not Answered
Chosen Option : --

Q.21 Which of the following banks signed a $1 billion loan agreement with Japan Bank for
International Cooperation in October 2020?

Ans X 1.Bank of Baroda
5 2. Industrial Development Bank of India
< 3. Punjab National Bank
«# 4. State Bank of India

Question ID : 65497831799
Status : Not Answered
Chosen Option : --
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Q.22 Change of a liquid into gas at any temperature below its boiling point is called:
Ans X 1. crystallisation

¥ 2. evaporation
/< 3. deposition

< 4. condensation

Question ID : 65497831807
Status : Answered
Chosen Option : 2

Q.23 Which of the following conditions could harm tea plantations?
Ans  * 1. Temperature above 35°C

< 2. Rainfall ranging between 150-300 cm
< 3. Hot and wet climate

< 4. Plantations along shady trees

Question ID : 65497831816
Status': Not Answered
Chosen Option : --

Q.24 The Persian chronicles described the Muslim Sultans as:
Ans X 1. The Incarnation of God

" 2. The Shadow of God
< 3. The Disciple of God

< 4. The Follower of God

Question ID : 65497831803
Status : Not Answered
Chosen Option : --

Q.25 The Mughal Empire had started facing a crisis towards the end of the 17th century.
Which of the following was NOT a factor for it?

Ans X 1. Aurangzeb had depleted the military.and financial resources of his empire by fighting
a long war in the Deccan.

5 2. Under the successors of Aurangzeb, theefficiency of the imperial administration
broke down.

¥ 3. The later Mughals kept'a'goed check on their powerful 'mansabdars’'.

X 4. The peasantand zamindari rebellions in many parts of North and West India added to
the problems.

Question ID : 65497831804
Status : Not Answered
Chosen Option : --

Section : Part C Elementary Mathematics

Q1 The curved surface area of a cylinder is 96 cm? and its volume is 672 cm?. Its diameter is:

Ans  X'1. 32 cm
<2 26cm
X3 24cm
4 28 cm

Question ID : 65497831820
Status : Not Answered
Chosen Option : --
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% 1£30f5 +2+—25— = 123, what is the valve of x ?
Ans
v 30
33
x2 28
13
xa o
33
xa 15
11

Question ID : 65497831831
Status : Not Answered
Chosen Option : --

@3 Find CI on T8.000 at 15% for 2 years 4 months compounded annually.
Ans X1, F12.008

X2 31,264

X3 11,109

« 4. 33,100

Question ID : 65497831826
Status : Answered
Chosen Option : 4

Q.4  The list price of a fan is 4,500 and it is sold at 15% discount. If its final selling price, after allowing a second discount

percentage on the list price, is ¥3.213, then the second discount percentage is:
Ans X1, 15%
« 2. 16%
X3 12%
X4 18%

Question ID : 65497831839
Status : Answered
Chosen Option : 2

Q.5 A certain number of men complete a piece of work in 60 days. If there were 9 more men, then the work would be

completed in 50 days. How many men are originally there?
Ans 1. 45
X2 55
X3 48
X4 42

Question ID : 65497831830
Status : Answered
Chosen Option : 1
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Q.6 When 154/ of oil is removed from an upright cylindrical tank, the level falls down by 10 cm. What is the diameter (in
cm) of the tank?

(TakeTr:?)
Ans X1 220
« 2 140
X3 100
X470

Question ID : 65497831827
Status : Not Answered
Chosen Option : --

Q.7 Bike A moving at a speed of 30 km/h covers some distance for 2 hours, while another bike B moving at a speed of
35 kmv/h covers the same distance as bike A, What is the ratio of the time taken by bike A to that taken by bike B?

Ans X'1.5:6
X2 8:5
X36:7
W4 7.6

Question ID : 65497831832
Status : Answered
Chosen Option : 4

Q.8 Inan election, a candidate got 75% of the total valid votes. If 20% of the total votes were declared invalid, and the total

numbers of votes is 560000, find the number of valid votes polled in favour of the candidate.

Ans X 1. 363000
< 2. 330000
« 3. 336000
X< 4. 346000

Question ID : 65497831824
Status : Answered
Chosen Option : 3

Q.9 Vessels A and B contain solutions of acid and water. The ratio of acid and water in vessel A is 7 : 5 and that in vessel B
is 11 : 13. Four litres of solution from vessel A is mixed with 5 litres of solution from vessel B. What is the ratio of acid

and water in the mixture?

Ans  X'1. 35:37
X2 22:21
3 37:35
X4 21:22

Question ID : 65497831836
Status : Answered
Chosen Option : 3
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Q.10 The average weight of 20 students in a group is 54 kg. If 12 students of average weight 52 kg join the group and 7
students of average weight 56 kg leave the group, then what will be the average weight (in kg) of the remaining students

in the group?

Ans  X'1. 53.84
X2 51.96
3. 5248
X4 5424

Question ID : 65497831835
Status : Not Answered
Chosen Option : --

Q.11 The time taken by a boat to go 34 km upstream is 25% more than the time it takes to go 40 km downstream. If the speed
of the stream is 4 knv'h, then what is the speed (in km/h) of the boat in still water?

Ans o 1. 2]
X2 24
X3 20
x4 22

Question ID : 65497831842

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.12 A sum of money becomes T12,600 after 6 years and T21,000 after 9 years on compound interest. The sum invested is:

Ans X1, 34,500
X 2. 34,600
3 34,536
X4 T4,436

Question ID : 65497831822

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 8 pens and 14 pencils cost as much as 12 pens and 5 pencils. The ratio of the cost of one pen to the cost of one pencil is:
Ans X1.9:5

«2.0:4

X3 7:5

X4 8:5

Question ID : 65497831819
Status : Not Answered
Chosen Option : --

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Q.14 The income of X is 20% less than the income of Y, and the income of Z is 35% less than the combined incomes of X
and Y. By what percentage is the income of Z more than that of X?

Ans 1. 46.25%
X2 38.8%
X3 31.6%
X4 455%

Question ID : 65497831840
Status : Not Answered
Chosen Option : --

Q.15 A sum amounts to 34,260 in 5 years at the rate of 4% p.a. simple interest. What will be the simple interest (in ¥, nearest

to a T) on the same sum fordé years at the rate of Si% pa?
Ans X1 1,250

W 2. 1,267

<3 1,285

X4 1271

Question ID : 65497831837

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 The total cost price of a watch and a fan is 1,170. Rama sells the watch at a profit of 20% and the fan at a profit of
25%. If he earns a total profit of ¥265, then the cost price of the watch is:

Ans 1. 550
X 2. T480
X 3. 3450
X 4. 3620

Question ID : 65497831833
Status : Answered
Chosen Option : 1

Q.17 A shopkeeper offers successive discounts of 10% and k%. Customers get items marked at 21,200 for 2864. What is the

value of k?

Ans X 1. 15
« 2. 20
<3 80
X4 25

Question ID : 65497831818
Status : Answered
Chosen Option : 2
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Q18 | : i 1 |l 3 1

SlmpllfyZ—[E+;+g+(;—E)].
Ans -;,'
S —
12
x2 L
12
xs 17
12
xa 11
12

Question ID : 65497831828
Status : Answered
Chosen Option : 1

Q.19 The average weight of students in a class was 58.5 kg. When 8 more students with average weight of 64.5 kg joined the
class, then the average weight of all the students increased by 0.96 kg. What was the number of students, initially, in the

class?

Ans X 1. 40
X2 32
X3 37
s 4 42

Question ID : 65497831838
Status : Not Answered
Chosen Option : --

Q.20 Anarticle was sold at x% profit for T875. When the same article was sold for 896, the profit made was 3% more than

the previous profit. The value of x is:

Ans X 1. 30
X2 24
3 25
X4 20

Question ID : 65497831821
Status : Answered
Chosen Option : 3

Q.21 Three persons start a morning walk together. Their steps measure 70 cm, 75 cm and 80 cm, respectively. What is the
minimum distance each should walk, so that all of them can cover the same distance in complete steps?

Ans X1 8800 cm
« 2. 8400 cm
< 3. 6400 cm
X 4. 8000 cm

Question ID : 65497831823
Status : Answered
Chosen Option : 2
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Q.22 Kohli deals with second-hand goods. He bought a second-hand AC for ¥10,000. He spent T500 on transport and 32,000
on its repair and sold it for ¥15,000. What is his gain or loss percentage?

Ans 1. 20% gain
X 2. 18% gain
X 3. 18% loss
X4 20% loss

Question ID : 65497831829
Status : Answered
Chosen Option : 1

Q.23 A group of persons can complete a piece of work in a certain time. If there were 4 more persons, they would take 2 days
less to complete it. If there were 6 persons less, they would take 4 days more to complete it. What is the number of

persons, initially, in the group?

Ans X 1. 40
X2 45
3 36
X4 32

Question ID : 65497831841
Status : Not Answered
Chosen Option : --

Q.24 x is the smallest number of 5-digits which when divided by 10, 15, 24, 35 and 42, leaves a remainder 7 in each case.

The sum of the digits of x is:
Ans X" 1. |8
X219
X3 13
4 16

Question ID : 65497831834
Status : Not Answered
Chosen Option : --

Q.25 Two numbers are, respectively, 20% and 50% more than a third number. The ratio of the first 2 numbers is:

Ans X 1.2:3

& 2.l
W3 4:5
X4 5:6

Question ID : 65497831825
Status : Answered
Chosen Option : 3

Section : Part D English
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Q.1 Select the most appropriate meaning of the given idiom.

Bite someone’s head off
Ans X 1. Ask someone the same question again and again

< 2. Go on repeating the same point
< 3. Scold someone for misbehaving

«# 4. Speak angrily without any reason

Question ID : 65497831844
Status : Not Answered
Chosen Option : --

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

Declare someone not guilty
Ans o 1. Acquit
< 2. Sentence
< 3. Pardon
< 4. Arrest

Question ID : 65497831860
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.
Grim
Ans o 1.Stern
25 2. Forceful
25 3. Joyful
25 4. Arrogant

Question ID : 65497831859
Status : Not Answered
Chosen Option : --

Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Melodrama

< 2. Melody
¥ 3. Melodous
< 4. Malignant

Question ID : 65497831854
Status : Answered
Chosen Option : 3
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Q.5 Select the most appropriate option to fill in the blank.

The landscape Hardy to write this fine poem.

Ans 4 1. inspired
#< 2.induced
< 3. pestered
< 4. incited

Question ID : 65497831855
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate meaning of the given idiom.
Once in a blue moon
Ans X 1.Happening usually
«" 2. Taking place very rarely
< 3. Doing something very often
<" 4. When the moon rises

Question ID : 65497831848
Status : Not Answered
Chosen Option : --

Q.7 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

In summers, we must take care / to drink enough water / to keep ourselves hydrated.
Ans X 1.to drink enough water
25 2. In summers we must take care
«" 3. No error
< 4. to keep ourselves hydrated

Question ID : 65497831845
Status : Not Answered
Chosen Option : --

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The pack of wolves moving towards the children are a frightening_sight.
Ans  # 1. was a frightening sight
25 2. No substitution required
2% 3. are an frightening sight
< 4. had a frightening sight

Question ID : 65497831850
Status : Answered
Chosen Option : 1
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Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

One who has keen interest in good food
Ans o 1. Gourmet

25 2. Hungry
< 3. Greedy
< 4. Gallant

Question ID : 65497831853
Status : Not Answered
Chosen Option : --

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

A place where birds are kept
Ans X 1. Apiary

5 2. Aquarium

5 3. Attic

o 4. Aviary

Question ID : 65497831849
Status : Not Answered
Chosen Option : --

Q.11 Select the most appropriate option to fill in the blank.

He was by the judge for his courageous actions.

Ans X 1. criticised

< 2. discouraged
¥ 3. commended
25 4. reprimanded

Question ID : 65497831857
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate ANTONYM of the given word.
Desperate
Ans 4 1. Content
5 2. Determined
#< 3. Frantic
25 4. Daring

Question ID : 65497831852
Status : Answered
Chosen Option : 1
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Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Everyone needs / to have a home / and to feel secured / and be wanted.
Ans X 1.and be wanted

< 2. Everyone needs

" 3. and to feel secured

25 4. to have a home

Question ID : 65497831858
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to fill in the blank.
Sometime back, onion used to be the poor man’s food as it was
Ans  # 1.cheap
X 2. inferior
< 3. available

< 4. low

Question ID : 65497831843
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
Naive
Ans ¢ 1. Experienced
25 2. Simple
5 3. Impulsive
25 4. Sincere

Question ID : 65497831861
Status : Not Answered
Chosen Option : --

Q.16 Select the INCORRECTLY spelt word.
Ans X 1.Separate

¥ 2. Desparate
< 3. Considerate
< 4. Disparate

Question ID : 65497831856
Status : Answered
Chosen Option : 4
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Q.17 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

After a month-long vacation due to the sudden floods, Mani’s school has been
resuming today.

Ans X 1. After
" 2. has been resuming
25 3. due to the sudden floods

25 4. a month-long vacation

Question ID : 65497831851
Status : Answered
Chosen Option : 2

Q.18 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select 'No improvement required'.

She frequent go to her old school to visit her teachers.
Ans X 1.frequent goes

«# 2. frequently goes
25 3. No improvement required

25 4. frequently going

Question ID : 65497831847
Status : Answered
Chosen Option : 2

Q.19 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.

Need you please hold my bag for a moment?
Ans X 1. No improvement required

< 2. May you
«" 3. Would you
< 4. Should you

Question ID : 65497831862
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate synonym of the given word.
Rift
Ans X 1.Boat
< 2. Heal
«" 3. Break
X 4.Bind

Question ID : 65497831846
Status : Not Answered
Chosen Option : --
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Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.
#< 1. had reached

«" 2. reached
X 3.reach
X 4. reaching

Question ID : 65497831864
Status : Answered
Chosen Option : 2

Q.22
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 22
Select the most appropriate option to fill in blank no. 2.

& 1. his
X 2.its
X 3. your
X 4. her

Question ID : 65497831865
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.

Ans

X 1.an
X 2.a

X 3.any
o 4. the

Question ID : 65497831866
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 4 1.1to0 secure

< 2. secure
< 3. secured
< 4. securing

Question ID : 65497831867
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

When Roald Amundsen first (1) the South Pole in 1911, he could plant (2)
flag there whilst, back in (3) Arctic, no explorer ever had the luxury (4) his
claim with a flag. If he did, it would (5) end up floating away to Greenland, making it a

totally useless exercise.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans  # 1. eventually

< 2. entirely
< 3. totally
25 4. happily

Question ID : 65497831868
Status : Answered
Chosen Option : 1

Section : Part D Hindi

Q.1 fow M arerier & T v 2reg @S

St 2T A& S Hedl
Ans X1 gf<E
< 2.7
& 3.37529
X 4.5

Question ID : 65497831871
Status : Not Answered
Chosen Option : --
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Q.2 A M a1 ¥ Yw@ifa 3ier B Afcwenfid H¥ & fay Ted 3uge faded &1 w1 &

WepH fTR o T W2E B
Ans X 1. 295
X2 @M
& 3R
r R

Question ID : 65497831886
Status : Not Answered
Chosen Option : --

Q.3 3igp frwet wafgart 22
Ans X 1. 3md
X 2.5

5 3.3
o 4. o

Question ID : 65497831883
Status : Not Answered
Chosen Option : --

Q4 frafafEa ¥ § g ad-t arer 2reg B a1 82
Ans 3 1. 3TTfeERR

o 2. 3TABR

X 3. 3faedR

X 4. AfTBR

Question ID : 65497831884
Status : Not Answered
Chosen Option : --

Q.5 fg Y 2reg & HAMIRI 21 BT Ta B

3R
Ans  # 1. 3ET8 BT

25 2. 39AT
75 3. gHMEdAT
X 4.3

Question ID : 65497831873
Status : Not Answered
Chosen Option : --

Q.6 R T a1y & P wmT A Ffe A2

3% A F 321 HY srqoita ofd g€ 81
Ans 1 Bfagd R
X 2. 3R T
7 3B

X 4. ol

Question ID : 65497831882
Status : Not Answered

Chosen Ontion -
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Q.7 Ry erz w1 fawm gl

Hlcy
Ans X 1 offiq

X 2. 3enfia
VAR
X 4 fawrg

Question ID : 65497831878
Status : Not Answered
Chosen Option : --

Q8 fiow e B WA & Iy Ta Iwgew 2Rg &1 9T |

fawear &1 RV sEEA Ugfasr__ dtem
Ans 5 1. areef
& 2.3W
X 3. wgfaa
X 4 fawr

Question ID : 65497831875
Status : Not Answered
Chosen Option : --

—

Q9 3 W arew ¥ Ywifdea sier®Y wfdwenfia & ¥ forg wad 3ugw faser &1 o &1

oo T HZL BRI
Ans X 1. 3grguin
X 2. 3gr
o 3. UgrTaEn
X 4 mgran

Question ID : 65497831887
Status : Not Answered
Chosen Option : --

——

Q10 freafeifaa ¥ & ogg ad A arem erg w82
Ans X 1. 3=

X 2. g=ms

X 3. g=mr

4.9

Question ID : 65497831885
Status : Not Answered
Chosen Option : --
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Q.11 i frg arraier ¥ fore ve orz g 1y el ¥ A gfiw)
s mwpe A e

Ans

Q.12 ey worma ®Y WA & o7 Wy IUga oRg &1 o W

Ans

Q.13 3ifa ¥ W GoaT T qEray &1 37} B 82
X TR 3T T B ST

X 2. 3Te W19 1 STAT

3. fasa et

Ans

Q.14 ‘gaw ¥ 3T wa 3 Bt fsar awrier ¥ fAv v oz -

Ans

Q15 g 1y arer 1 a8 Wi ATa B o P R #) ARk P IR A E, A P IR A g
T aa & B A(1)/ ol BY(2)/ wpver 7 8vm i (3) B FR A {1 (4)

Ans

X 1.@m
2. afdaa
X 3. 3em
X 4. 3fea

fAgRERRa I E AN _____ smEwar §1

1. TRy
X 2.
X 3@
X 4. warar

X 4 ur@r

X 1. wa fayrer
X 2. warfasRr
X 3. waudt

o 4. 9daA

X 1.4
x23
& 3.1
X 4.2
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Question ID :
Status :
Chosen Option :

65497831879
Not Answered

Question ID :
Status :
Chosen Option :

65497831874
Not Answered

Question ID :
Status :
Chosen Option :

65497831870
Not Answered

Question ID :
Status :
Chosen Option :

65497831888
Not Answered

Question ID :
Status :
Chnsen Ontion -

65497831877
Not Answered
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Q.16 Ry 7y are ®1 ag WA FA B o B AR 1 AR PE R AH L, A P R AN & N

WY, Wr: 2MgT & 3| T W (1)/ T e €, Wit (2)/ #v s A uga w1 (3) B e

e @)
Ans 12

X 2.1
X 3.3
X 4.4

Q17 Ry 1y erg w1 fawrw gl

waer
Ans X 1.vgf
2. fFom
X 3.9
X 43R

Q.18 fer worre B WA & fo10 Way I oRg BT TTH B

WA GRS____ BN
Ans X 1 fdaRa

X 2. v
X 3. wwdor
4. Tfda

Q.19 Ry g ar e ¥ {, 39 fwen &1 w7 s o R Ry gera @1 3ref o swar )

e BT Bt 1 @

Ans X1 Tugq BT
X 2. fazga sgya gAn

X 3. AT ST

o 4. 3avie & fedifa g

Question ID : 65497831872
Status : Not Answered
Chosen Option : --

Question ID : 65497831880
Status : Not Answered
Chosen Option : --

Question ID : 65497831876
Status : Not Answered
Chosen Option : --

Question ID : 65497831881
Status : Not Answered
Chosen Option : --
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Q.20

Ans

Q.21

Ans
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fw g arer ¥ Ywifera W B wfewenfia H & fog wad suge e o1 o # Ak @
wierenfia & Y saeawar 781 §, aY fiwer fwlt agema & smaeawar 78 § w1 oA W
e a2 1 uFt fierge)

X 1. ot seera Y g eaddr T8

X 2. grit 31 U8 B farsyl

X 3. 3erurt g8 & fdarsyl

o 4. 93 &1 331 Tl fergy

Question ID : 65497831869
Status : Not Answered
Chosen Option : --

Comprehension:
g Mo B ¥ | 3B 2rea v v e 1 A Ry faseat B weraar & Raw oM W) wde gEn S
fore wadt 3uga faeea &1 aed o

WAlgg e (1) &#RAEIT(2)_ ST WIEA &, 3757 UTei-GI§0T PRep 3! I&IT PRt

2y ed (3)__ Rar g ud T B AV EW BT T BN Geb| 31eraT, B9 ST URYT IRd &, 79§ fema
FIAdEIE (@) B T A Y fiaciar &, Vg §, 98 9 2ifd ST At 81 3l fa €
S gw (5) % faRaR &Y IRom U E

SubQuestion No : 21
raier & far v (1) % forg waifie swge oz 8-
AR
X 2. 7801
X 3.
X 4. TgFa

Question ID : 65497831890
Status : Not Answered
Chosen Option : --

Comprehension:
o Mg srgede ¥ & B oz v fa Mo ¥ AR Ry el S weraar & Raw wem W) wde e s
o T 3uga fawea &1 |

WATEEN (1) PTG (2 W IEA &, 37T TTe-UIe07 e 37T 8T Fit
ud el (3)_ a1 U 7 8 AV BIa T X Wb 31T, B9 ST URYT B €, W ¥ fAeEa
FATEIE ()R A Y Mderar &, Vg 7, 98 9 21ifd I ot 81 3naner fawa §
ot g9 (5) P R &Y IRom U #

SubQuestion No : 22

Q.22 rerier 3 feam werm (2) & forg waifte suge e Brm-
Ans X1 @

2. 59
X 39y
X 4. gsht

Question ID : 65497831891
Status : Not Answered

Chosen Option : --
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Comprehension:

fo Mg 3rgede ¥ & B oz 7 fa Mo #) AR Ry et S wwaar @ faw wom W) ade e s
fore T 3uge fased &1 aa |

WAIEEN (1) S FI (2 THWRIE &, 3761 UTei1-U1907 Fs 34T 8T Bt
21 ud ¥t g (3) AT &1 U 7 B AV B T X Wb 32T, B9 WY URUT B &, W ¥ feEa
FRAdTEIE (@) R T W Y factar &, Vg §, 98 79 21ifd ST Bt 81 3l faa §
oA gw (5) % feRaR &Y RO UTa

SubQuestion No : 23

Q.23 rerier 3 fiaw werm (3) & oy waifie Juge oz Brm-

Ans

X 1. ueE
X 2. 180
x 3. gor
4 uRor

Question ID : 65497831892

Status : Not Answered

Chosen Option : --

Comprehension:
g Mo 3B H | 3B 2 7 MY 1 AR Ry faseat B werar & Raw oM W) wde wen s
g wadt 3ugan faaea &1 e o

WATEEN (1) S, e (2 SHRIEA &, 37T UTei7-UIS07 Seb I7eh] T&iT BRcit
21 ud it g (3) AT &1 U 7 B A EH B T X Wb 32T, B9 WY URVT Bd &, W W e
FIAdTEIE (@) R T W Y ofiaiar &, Vg §, 98 9 21ifd ST Bt 81 3l faaR §
ga (5 SR B iRonaa gl

SubQuestion No : 24

Q.24 rerier ¥ fear werm (4) ¥ oy watfies suge erg Brm-

Ans

X 1. dseq
& 2.un
X 3.9
X 499

Question ID : 65497831893

Status : Not Answered

Chosen Option : --

Comprehension:
o Mo 3B ¥ & 3B 2rea 7 faw MU 1 AR Ry faseat B werar & Raw oM W) wde gen s
fore wadt 3ugaw faaea sraed o

WA (1) e e (2 T WIED E, 30T IIA-UIN0T F¥b IThT 81T St
21yt g (3) At 21 U T B AV W BIH T B T | 31eraT, B9 i URYT B &, W e
FATETE (4)____ R I A Y 2Maetar €, TE 7, 98 g 2ifd I ot 81 3l fawr §
fordew (5 FfRar & Romua &

SubQuestion No : 25

Q.25 Trerier 3 fee 2 (5) ¥ forg waffires swge erg grm-
Ans 1 faq

X 2. wwgh
X 3. afass

X 4. TBR

Question ID : 65497831894

Status : Not Answered

Chosen Option : --
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